


SolZIONI FOGUO7

1) linx = X - x3 + &(x3)
J

N : x(ux -x = X(x- +o(x)))-X =X-x +0(x)/=

cosX = 1 - 12 +0(x) ( = x") - b +o(1)
P : (1 - csx) . x = p -

1 + 12 +0(x2)) - X = ( +0(2)X =

=
+0(x3) = x3(z+o(t)

him (*) (- Yto(1) = 0
-

x10
(1 + +(1)

N : xuch X - X = X - 13, 0 (x3) -x =

8) onix = X - 1 +0(x))) .

= x3( -( +0(1)



(m x= (xz) + b(xz)+ 0(x23 = x-yx+o(xS) 20 20--
x - wmx = X - *+ &xP+o(x)) -2x(1 - X -2+ x5- 0(xb-4)

M = x(1 + 0(1))

n x2.(+(4)
Ny

= x2( - 1 + 0(1))

* (x +o(xb) = x
*

(+ o()
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3) - In-0 e = 1 + x +1+0(x

X I +0 E
n
= 1 + (22) + 2 (2)+otz)
= 1
- 2

+ =m + o(tm)

CosX = 1- + (X X=1 -0

cost = 1
- (t)+ In(t)" +o()"=1 -I +o(tu)

N: et - cost=+Gu +=(m) =1+ -m +o(m) =

= +o(tu) =(E +&(1)

D : oncty v = X -B +0(X) X=tantgt = n - (t)+0 (t)



art-t = EE +o(tus) -h= Es ( -B +0(1)

ne metto tutto inseur : ni(i++(l)
-

m ( +o(1))
=
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4) se x1to + + 0 lg(1 +H) = + -E +0(t)
tex

+ = y + b(k +z) = t - E(k)+o(2

=*- [2 + (t)
E

xx - x (g() +y) = X- x [E - E + +o(x)] =

= x
- x+ 1 +o(1) -> toX+ to I

-
-1I·

->-Q
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5) 2 + 0 sinx = X -x3 + o(x)) X= 1
Z 42

antgX = X - 13 +o(x3) X =1
n2

sint - ant in = -5)+o(t) - [-5)+o=

=

s
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6) tox= X + 1 +0(x) X=
3
+ 0 e = 1 + x +1 +0(x3)

53 =(3 + +(n)3+0(t)3 = 3
+5 +o(t)

ettas
=

1 + (+na) +t( +1)+ 5(+1)+o(+ )" =
= 1 +t + 2 +1 + o(tus)
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=
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1 0 x0 :
e
Y
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mX
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7) simax = ax - f(ax +a(xx) = 2x- ( x3 + 0(x3)
t
= 1 + X + x( + 4/6 +0(x3]



N :
ex
-(max - 1+x3= y+X +1 + E - cx+2 +o(x)-(+ x3=

- 2=1 * + +o(x) = x2(E+o(1)

Y
c+ ( -2)x + 2

+ (1 +2) +o(x3) =

= X(1- a +o(1) .

.

cost =1 -E +E +0(t4) t
= rx + 0

cosix = 1-(rx) = 1 - * +o(x) - S

D : 1- cosX = 1 - 1+ y + o(x)
= y +o(x) = X(E+o()

+= 1 line
-

* (( + 0(1)
=
0
-Xeot X(1 + o(i))
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8) Me+ xz)
= (1 + x2)5 (1 + t)" = 1 + (t +c(1)f + 0(t))

t= x c= 7

(1+m)5 = 1 + =R + E())(5 - 1)(x2)2 + 0(x)2 =

=
1 ++x + E-5)- E)x" +o(x4)= 1 +tx--X" + o(xY)

sim x = X - 1(x23 + o(xy) = x2--x + o(x))

#
- 1 -t smx = 1+ a-Ex"+o(x) - 1

- f(x)-(X+ (x))) =
=-Exox+o(x)=

to Xeo(x)! = - EX* + o(xx) = x4) - E + o(1)j



D : 1 - bS2X-x2= 1 - (1 - (x + 7(x) + ofX4)) - X2=

= xx +cax +0(x) -X

= (E - 1) + 7400(x4)
c 2= 2 (GEIn) = -(2)

? x" + 0(xY) = 1 x4+o(x)
6

·= X4(f + 0(1)
s 2 +2 C In => X [ ** - 1 + o(2)]
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- - = = - 6=-
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-
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9)(( +x) = X - E+0(x) (1+ t)2 = 1 +a+ + c( -)( +o(t))
#2x = (1 +2x)* =
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1=zt = 2x
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2x + &(t)( -1)(2x) + 0(2x)=

= 1 + x + EE() .
4x+o(x) = 1 + x -Ex + o(x))

&( + x) + i -N+2x= X -X + o(x) + 1 - 1 - x+ Ex + o(x) =o(x))Z
↑

non va bene ! devo proseguire
nello sviluppo di un altro termina!

&g (1 + x) = X -R + 1 + 0(x3) (1 ++) = 1 + a + + 61+2
+o (t3)

+2x = 1 + x- 1x+ &(E)(E - y(z - 4)(2x3 + o(x)) =



= ( + X -zx + t . (y)ty))-3) * X3 + o(x3) =

=
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u
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eg( ( + y) + 1 -V+ 2x = X-(* * +↓X-x +X - tx +o(x3) =

= =1x3 + o(x3) = X3( ( +o(1)
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3
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* (t +o(1)
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